
 تسوِ تعالی

 
 ًام ٍ ًام خاًَادگی: 

 ضوارُ داًطجَيی:
 ترم:رٍش اجساي هحذٍداهتحاى خاياى

 هکاًیک هٌْذسی  داًطکذُ - صٌعتی اصفْاىداًطگاُ 
 99-92 دٍم سال  ًین

 دقیقِ 951: ٍقت اهتحاى
 

 

 

. در صَرتی كِ از الواى اًتقالی استفادُ ًوی ا تِ دست آٍريذر تَاتع ضکل در هختصات طثیعی تراي الواى اًتقالی در ضثکِ اجساي هحذٍد زير -الف -2

 .دّیذخیطٌْاد هیتراي اتصال دٍ الواى خطی ٍ هرتثِ دٍ را راُ ديگري چِ ضذ 

 

 

 

 

دّذ. در صَرتی كِ قسوت تیرُ رًگ يک جسن صلة اي ًطاى هیضکل زير يک ضثکِ اجساي هحذٍد يکٌَاخت را تراي يک هسالِ كرًص صفحِ -ب

         را تِ دست آٍريذ. 4 ,3 ,2 , 1ّاي ( تراي گرMPCُ. هعادلات قیَد )تاضذ

 

 

 

 

 

 

 ًورُ 4تارم: 

  

گیري عذدي گَس تراي يک الواى هثلثی تٌْا از يک ًقطِ گَس استفادُ ضَد؛ در ايي صَرت اًتگرال عذدي تاتع خطی، اگر در رٍش اًتگرال -3

 321),( f ،ِضَد. صَرت دقیق ترآٍرد هی تر رٍي هثلث ت 

),(),( :تا استفادُ از راتطِ -الف 111  fwdAf
A

     1هقذارw ،1  ٍ  1.را تِ دست آٍريذ ، 

 (؟ چرا؟Rank Sufficiencyگیري رتثِ هاتريس سختی ايي الواى كافی است )آيا تا يک ًقطِ اًتگرال -ب

 

 

 

 

 ًورُ 4تارم:                                                                                                                                                                      
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  cm 0.02ٍ قطر آى تراتر  cm 15گیرد. طَل سین قرار هی  oC 100در هعرض دهاي ، Aكاري در يک سین هسی، ًقطِ در يک فرآيٌذ لحین -4

تثادل  (هطاتق ضکل)تا هحیط اطراف ٍ سطح سین  ،k=26 W/oCm، هس يیگرها تيّذا ةيضراست.  oC 20 سین تراتر ٍ اًتْاي است. دها در دٍ 

 ح سین ٍ يک الواى هرتثِ دٍ )درجِ دٍ( تراي سوت راست سین هطلَتست:تا استفادُ از يک الواى هرتثِ اٍل )خطی( تراي سوت چ حرارت دارد.

 تِ دست آٍريذ. را   Aضار حرارتی تِ سین در ًقطِ  -الف

 ضار حرارتی در دٍ اًتْاي سین را تِ دست آٍريذ.  -ب

 ذيگرددر صَرتی كِ از يک الواى خطی ًیس تراي سوت راست سین استفادُ هی -ج

 ًورُ 6تارم:                               ًوَد.تغییري هیجَاب قسوت الف ٍ ب چِ  

 

 

 

 

 

 

 

 

 

 

 

 ضکل ضعیف هعادلِ ديفراًسیل زير استخراج ًوايیذ ٍ در صَرت اهکاى تاتعک درجِ دٍ آى را تٌَيسیذ. -5
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 ًورُ 4تارم:                                                                                                                                                                      
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Problem 1:                                                 نام و نام خانوادگي:  

 (i) Another name for the undesirable deformations caused by exciting zero-energy modes when using a 

reduced integration quadrature rule is: 

(a) interpolation modes.                             (b) parasitic shear modes.                       (c) hourglassing. 
 

(ii) True or False: The weak form of a differential equation includes the specified natural boundary 

conditions. 

(a) True                                                      (b) False 
 

(iii) Which of the following is NOT a method of alleviating locking effects in plane stress elements? 

(a) using a reduced integration quadrature rule 

(b) using an implicit integration scheme 

(c) using a higher order element interpolation 

 

(iv) Which of the following is NOT a step in the development of the weak form of a differential equation? 

(a) multiplying the entire equation by a “test function” 

(b) integration-by-parts 

(c) assembly 

 

(v) True or False: A collection of finite elements that passes the weak patch test will converge towards an 

exact displacement solution with increasing mesh refinement. 

(a) True    (b) False 

 

 (vi) True or False: For plane elasticity problems, stresses calculated at the integration points are most 

accurate. 

(a) True    (b) False 

 

(vii) The minimum Gauss Quadrature rule that would be considered full integration when applied to the 

polynomial integrand 521)( xxxf   is 

(a) 1 pt     (b) 2 pt     (c) 3 pt 

 

(iix) True or False: A collection of finite elements that fails the patch test will converge towards an exact 

displacement solution with increasing mesh refinement. 

(a) True    (b) False 

 

(ix) True or False: Plane stress would be valid assumption to use when the thickness of a two-dimensional 

structure is an order of magnitude smaller than its length and width. 

(a) True    (b) False 

  

 (x) Nonlinear problems require special solution techniques because 

(a) the stiffness matrix has constant coefficients. 

(b) the stifiness matrix is a function of the unknown degrees of freedom 

(c) the stiffness matrix is singular 
 

 (xi) The Jacobian, J, of a isoparametric mapping between a parallelogram child and an undeformed 

(square) parent element will be 

(a) a constant. 

(b) zero. 

(c) a function of the natural coordinates. 
 

(xii) The total nodal degrees-of-freedom for a frame element is 

(a) 3.     (b) 4.     (c) 6. 


